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 3

1. A (x1, y1)  B (x2, y2) 

AB  {(x2 – x1)
2 + (y2 – y1)

2}.

2. P(x, y) (0,0) (x2 + y2) x-  

y-  y-  x-

3.  A(x1, y1)  B(x2, y2) P(x,y), m1 :

m2 

     
1 2 2 1 1 2 2 1

1 2 1 2
,

m x m x m y m y
m m m m

m1 : m2 k : 1

4. P(x1, y1) Q(x2, y2) 

    
1 2 1 2,

2 2
x x y y

5. (x1, y1), (x2, y2)  (x3, y3) 

     1 2 3 2 3 1 3 1 2
1

.
2
      x y y x y y x y y
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96 X – Maths

6.

x1(y2 – y3) + x2 (y3 – y1) + x2(y1 – y2) = 0

1. x ‘p’  y 3  p 

(a) (3, 0) (b) (0, 3)

(c) (–3, 0) (d) (0, –3)

2. p (3, –2)  y-

(a) 3 (b) 2 

(c) –2 (d) 13

3. (6, 0)  (0, –8)

(a) (3, 4) (b) (3, –4)

(c) (0, 0) (d) (–4, 3)

4. (4, 0)  (0, x)  5  x 

(a) 2 (b) 3

(c) 4 (d) 5

5.    7
x y
a b

 y-

(a) (a, 0) (b) (0, b)

(c) (0, 2b) (d) (2a, 0)
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X – Maths 97

6.  0AB, A (4, 0) B (0, –7) 0 

(a) 11 (b) 18 

(c) 28 (d) 14 

7.            
11 2

, 5 , 5
3 3

P Q  

(a) 6 (b) 4 

(c) 3 (d) 2 

8.    1
2 4
x y  P Q,  PQ 

(a) (1, 2) (b) (2, 0)

(c) (0, 4) (d) (2, 1)

9. ABC A (–4, 2)  D(2, 5), BC 

ABC 

(a) (0, 4) (b)    
7

1,
2

(c)    
7

2,
3

(d) (0, 2)

10.  2x + 4 = 0  x – 5 = 0 

(a) 9 (b) 1 

(c) 5 (d) 7 

11. (5 cos 35°, 0)  (0, 5 cos 55°) 

(a) 10 (b) 5 

(c) 1 (d) 2 
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98 X – Maths

12. (–4, 0), (4, 0) (0, 3) 

(a) (b)

(c) (d)

13. (0, 0), (2, 0)  (0, 2) 

(a) 4 (b) 6 

(c) 6 2  (d) 4 2 2  

14. AOBC A (0, 3), O (0, 0), B (5, 0) 

(a) 5 (b) 3

(c) 34 (d) 4

15. (9, a), (b, –4)  (7, 8)  (6, 8) 

(a, b) 

(a) (4, 5) (b) (5, 4)

(c) (5, 2) (d) (3, 2)

16. (3, a) 2x – 3y = 5 a

17. P(3, 2) x- x-

18. (3, 5)  (7, 1)  (a, 0) a 

19. (0, a), 
  ,

2 2
b a

 (b, 0)

20. AB A 

(3, –4) B 

Downloaded from www.studiestoday.com

Downloaded from www.studiestoday.com

w
w
w
.s
tu

di
es

to
da

y.
co

m



X – Maths 99

21. ABC A (3, 2) B(–2, 1) G 

  5 1
,

3 3 C 

22. p,  (–3, 9), (2, p)  (4, –5) 

23. (x, y) (7, 1) (3, 5) x y 

24. P  Q A(1, –2) B (–3, 4)

 P 

25. (x, 2) (3, 4) 8  x 

26. (1, –1), (–3, 5)

 (2, –7) 

27. Y- (–2, 5)  (2, –3)

28. (5, 7)  (3, 9) (8, 6)

(a, b) a  b 

29. (1, 3)  (2, 7) 

 3 : 4 

30. x P (2, 3) Q (x, 5) 

10 

31. K (1, 2) E (6, 8)  F (2, 4)

K EF 

32. ABC A (–1, 3), B (1, –1)  C (5, 1) A
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100 X – Maths

33. A (a, b) B (b, a)  a – b = 4

34. (–3, 1), (1, 1) 

(3, 3)

35. ABC AB = AC A, y-

B C (–5, –2)  (3, 2) A

36. A (3, 0), C (–1, 4) D (–2, –1) 

ABCD 

37. (3, 1)  (–2, 5) 
3
4  

38. (6, –3), (3, K)  (–7, 7) 

15  K 

39. 4 (5, 0) 

5 

40. X- P, (4, 5)  (1, –3) 

 P 

41. ABC, B = 90°   34AB  B C  

(4, 2) (–1, y) (ABC) = 17 y

42.  A (–3, 2) B (x, y) C (1, 4) 

AB = BC  (2x + y) 

43. P (3, 4) A (a + b, b – a)  B (a – b, a + b) 

3b – 4a = 0.
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X – Maths 101

44. ABCD  A (–5, 7), B (–4, 5),

C (–1, –6)  D (4, 5)  ABCD 

45. PQR (1, 2), (0, 1)  (1, 0) 

46. A (2, 1) B (5, –8) P Q 

P,A P 2x – y + k = 0

K 

47. (3, 4)  (1, 2)  P  Q 

P Q (p –2)  
   

5
,

3
q  

p  q 

48. A(–5, 7), B (–4, –5), C (–1, –6) D (4, 5) ABCD 

49. ABC A (5, 2), B (–5, –1)  C (3, –5) 

AD  ABC  

50. A(a, 0) B (0, b) P(x,y)

   1.
x y
a b

51. (x, y), (–5, –2)  (3, –5) 

3x + 8y + 31 = 0.

1. c 2. a

3. b 4. b

5. c 6. d

7. c 8. a
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102 X – Maths

9. a 10. d

11. b 12. b

13. d 14. c

15. c 16.  1
3

a

17. 2 18. a = 2

20. (–3, 4) 21. (4, –4)

22. p = – 1 23. x – y = 2

24.
   

1
, 0

3 25. x = 1, 5

26. 5 27. (0, 1)

28. a = 0, b = 10 29.    
10 33

,
7 7

30. 4, –8 31. 5 

32. 5 33. 4 2  

34. (–1, 3) 35. (0, –2)

37.
   

3
, 4

4 38.  21
13

K

39. 2, 8 40.    
17

, 0
8

41. –1 42. 1

44. 72 45. (2, 1), (0, 3), (0, –1)

46. K = – 8 47.  7
, 0

3
p q

48. 72 
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